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Homework 8:  Revenues, and Profit Maximization (Due Wednesday, December 1st). Remember, late assignments receive a penalty of 15% per week day and an additional 15% penalty for not stapling multiple pages.
1.  A firm's total revenue

	a.
	can be read off the demand curve it faces, but only if we know total cost of production

	b.
	can be read off the demand curve it faces, but only if we know how much output the firm sells

	c.
	is found by multiplying price per unit by the number of units produced and sold

	d.
	is equal to profit when inputs are fixed in the short run

	e.
	can be negative at any level of output


Use the following information to answer question 2
The demand curve facing the firm has been estimated as follows:
	Price
	Output

	$200
	1

	180
	2

	160
	3

	140
	4

	120
	5

	100
	6

	 80
	7


2. Which of the following statements about the firm's total revenue is correct?

	a.
	if the firm sold 3 units of output, it would have revenues totaling $540

	b.
	if the firm sold 7 units of output, it would have revenues totaling $980

	c.
	if the firm increased output from 2 units to 3 units, total revenue would decline

	d.
	if the firm increased output from 6 units to 7 units, total revenue would decline

	e.
	if the firm decreased output from 6 units to 5 units, total revenue would decline


Use the following figure to answer questions 3-4
[image: image1.png]Price

$800
$800
$750
$700
$650
$600
$550
$500
$450
$400
$350

Figure H-4

Units of
Output

Somumms e

Total
Cost

200
500
700
800
850
$ 950
$1,150
$1,450
$1,850
$2,350
$2,950







3.Figure H-4 indicates data for the total cost curve and the demand curve facing Jonathan's Riding Mower Shop. The quantities indicated are potential daily sales. Jonathan's profit-maximizing sales level is

	a.
	8 or 9 units

	b.
	5 units

	c.
	10 units

	d.
	6 units

	e.
	7 units




4. Figure H-4 indicates data for the total cost curve and the demand curve facing Jonathan's Riding Mower Shop. The quantities indicated are potential daily sales. Jonathan's maximum profit is

	a.
	$2,150

	b.
	$3,600

	c.
	$550

	d.
	$2,050

	e.
	$1,750


5. Assume your firm is selling computer desks at a current market price is $200 per unit. You have the following total cost (TC) information.
	Q
	Total Cost
	Marginal

Cost
	Total

Revenue
	Marginal

Revenue
	Profit

	0
	80
	
	
	
	

	1
	120
	
	
	
	

	2
	180
	
	
	
	

	3
	250
	
	
	
	

	4
	400
	
	
	
	

	5
	600
	
	
	
	


(A) What is the profit maximizing output level? ________________________

(B) How much profit/loss is realized at this level?_______________________
(C) What is the Total Fixed Cost (TFC) of this firm?________________________
(D) What is the Total Variable Cost (TVC) at Q=4?___________________________
(E) What is the Average Variable Cost (AVC) at Q=2?___________________________

(F) What is the Average Total Cost (ATC) at Q=5? _________________________

6. Assume your firm is selling computers at a market price is $500 per unit.

	Quantity
	Total Cost

	0
	550

	1
	900

	2
	1300

	3
	1800

	4
	2500


(A) What is the profit maximizing output level? ________________________

(B) How much profit/loss is realized at this level?_______________________

(C) Should the firm shutdown or continue to produce. Show your shutdown calculations for full credit (applying the official shutdown rule). Briefly explain your answer.
End of Assignment.
